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UNIT – VIII 
(d and f - BLOCK  ELEMENTS) 

    

One (01) Mark Question. 
 
 

1. Iron is manufactured from the following are : 

(a) Cryolite (b) Bauxite (c) Haematite (d) Chalcopyrites. 

yksgk fuEukafdr esa fdlls cuk;k tkrk gSA 
¼d½ Øk;ksykbV  ¼[k½ ckWDlkbV  ¼x½ gsesVkbV  ¼?k½ dkydks ik;jkbV~l 
 

2. The colour of FeSO4, (NH4)2SO4, 6H2O is  

(a) Red  (b) White  (c) Blue  (d) Green 

FeSO4, (NH4)2SO4, 6H2O dk jax gS& 
¼d½ yky ¼[k½ lQsn  ¼x½ uhyk ¼?k½  gjk 
 

3. The first transition element is: 

(a) Cr (b) Se  (c) Ni  (d) Cu 

ÁFke laØe.k rÙo gSA 
¼d½ Øksfe;e ¼[k½ lsysfu;e  ¼x½ fudsy ¼?k½ rk¡ck 
 

4.  A non copper alloy is: 

(a) Solder  (b) Brass  (c) Bronze  (d) Bell metal  

rk¡ck jfgr v;Ld gS\ 
¼d½ lksyMj ¼[k½ czkl ¼x½ czksUt ¼?k½ csy rÙo 
 

5. Which of the following configuration is correct for iron ? 
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yksgk dk lgh bysDVªkWfud foU;kl D;k gS\ 
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6. AgCl is soluble in: 

(a) Aquaregia  (b) H2SO4  (c) HCl  (d) NH3 

flYoj DyksjkbM ?kqyu’khy gS & 
¼d½ vEyjkt ¼[k½ l¶;wfjd vEy ¼x½ gkbMªksDyksfjd vEy ¼?k½ veksfu;k 
 

7. Which of the following elements exhibit maximum oxidation state- 

(a) Sc (b) Fe  (c) Zn  (d) Mn 

fuEufyf[kr esa fdl rÙo dk mPp vkDlhdj.k la[;k gSA 
( ad) Sc ([k) Fe  (x) Zn  (?k) Mn 
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8. Steel contains- 

(a) Fe + C  (b) Fe + Mn + Cr  (c) Fe + Mn   (d) Fe + Mn + Ni 

LVhy cuk gksrk gSA 
(d) Fe + C  ([k) Fe + Mn + Cr  (x) Fe + Mn  (x) Fe + Mn + Ni 

 
9. Which metal is extracted in blast furnace- 

(a) Cu  (b) Ni   (c) Na   (d) Fe  

dkSu lk rÙo CykLV HkÍh ls fuLd”kZu gksrk gSA 
¼d½ rk¡ck ¼[k½ fudsy ¼x½ lksfM;e ¼?k½ yksgk 
 

10. The 3d series states from- 

(a) Z=21-30  (b) Z=22-30  (c) Z=20-30   (d) Z=31-40 Where Z is 

atomic no. of the element. 

 

11. What do you understand by coinage metals ? 

Dok;ust rÙo ls D;k le>rs gS\ 
 

12. Which is more stable Fe
2+

 or Fe
3+

 ? 

Fe
2+

 ;k Fe
3+

 esa dkSu T;knk LFkk;h gS\ 
 

13. What is Baeyer’s Reagent ? 

cs;j Áfrdkjd D;k gS\ 
 

14. Which block of elements in the periodic table forms complexes easily ? 

vkoÙkZr ds fdl oxZ ds rÙo la;qäkvksa dk fuekZ.k vklkuh ls djrs gSaA 
 

15. Out of the following, identity: 

(a) The d-block element and  

(b) The f-block element Ca, Mn, U, Al. 

fuEufyf[kr dk igpku crk;sa& 
¼d½ Mh&CykWd rÙo ¼[k½ ,Q CykWd rÙo] dSfYl;e] eSxfut] flYoj ,oa lksuk 
 

16. What is common oxidation state of Cu, Ag & Au ? 

rk¡ck] flYoj ,oa lksuk dk lkekU; vkDlhdj.k la[;k D;k gS\ 
 

17. Write the formula of a compound where transition metal is in +7 oxidation state ? 

ml ;kSfxd dk uke fy[ksa ftldk laØe.k rÙoksa esa $7 vkWDlhdj.k la[;k gksrh gS\ 
 

18. Why is copper (Z=29) considered a transition metal ? 

rk¡ck ,d laØe.k rÙo ekuk tkrk gS D;ksa\ 
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19. Which is the most common oxidation state of lanthenoids ? 

ySUFksukbM dk eq[; lkekU; vkDlhdj.k la[;k gS\ 
 

Two (02) Marks Question. 

 

1. Define co-ordination compound with examples ? 

dksvkWfMZus’ku ;kSfxd dh ifjHkk”kk mnkgj.k ds lkFk ÁLrqr djsa\ 
 

2. What are ligands give two examples ?  

fyxSaM D;k gS\ nks mnkgj.k crk;saA 
 

3. Write two differences between double salt and complex salt. 

f}yo.k ,oa fefJr yo.k esa nks foHksn fy[ksaA 
 

4. Write atomic nos. and symbols of any four transition element. 

pkj laØe.k rÙo dk ijek.kq la[;k ,oa lwpd fy[ksaA 
 

5. Write balanced chemical equation when acidified potassium per magnate 

solution is treated with oxalic acid solution. 

vEyh; iksVkf’k;e ijeSXusV vkWDlhtu vEy ds lkFk ,oa larqfyr jkl;fud lehdj.k fy[ksa\ 
 

6. Explain why the first ionization energy of the elements of the first transition 

series don’t vary much with increasing atomic number. 

o.kZu djsa dh ÁFke vk;ksukbtslu mtkZ ,oa ÁFke laØe.k ijek.kq la[;k c<us ij Hkh vkil esa 
fHké ugha gksrk gSA 
 
 

7. Why is +2- oxidation state of manganese (Z=25) more stable than its +3-

oxidation state, while the same is not true for iron (Z=26) ? 

 

 

8. Name the lanthanide elements which exhibits +4-oxidation state besides the +3-

oxidation state. 

dkSu ls ysUFksukbV rÙo $4 vkWDlhdj.k la[;k ds lkFk $3 vkWDlhdj.k la[;k dks n’kkZrk gSA 
 

9. Why the valence shall configuration of 29Cu is 4s
1
3d

10
 but not 4s

2
3d

9
 ?  

rk¡cs 29 dk bysDVªkWfud foU;kl 4s
1
3d

10 gS ijUrq 4s
2
3d

9 ugha gS! D;ksa\ 
 

10. Write two differences between cast iron and pig iron. 

dkLV yksgk ,oa fix yksgk esa nks foHksn djsaA 
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11. Write the formula of one compound each in which transition metals have                 

+6 and +7 oxidation state. 

laØe.k rÙoksa esa ,d ;kSfxd dk uke fy[ksa] ftldk vkWDlhdj.k la[;k $6 ,oa $7 gSA 
 

12. Out of V and Mn which element exhibits more number of oxidation states and 

why ? 

eSusfM;e ,oa eSXuht esa fdl rÙo dk vkWDlhdj.k la[;k T;knk gS vkSj D;ksa\ 
 

13. Differentiate paramagnetic and diamagnetic character with two points.  

ikjkeSXusfVd ,oa Mk;eSXusfVd ds xq.kksa dk nks foHksn fy[ksaA 
 

14. What do you mean by lanthanide contraction ? 

ySFksukbM fldqM+u ls D;k le>rs gSa\ 
 

 

Three (03) marks question. 

1. Why the transition elements act as a catalyst ? 

VªkWfUtlu rÙo ,d mRÁsjd ds #i esa dk;Z djrk gS D;ksa\ 
 

2. Why the transition elements form alloys, Why it forms color compounds. 

laØe.k rÙo feJ /kkrq cukrs gSa D;ksa\ os jaxhu ;kSfxd Hkh cukrs gSa D;ksa\ 
 

3. Write down the electronic configuration of the following elements. 

(a) Cr (24) (b) Cu (29)   (c) Co (27) 

fuEufyf[kr rÙo dk bysDVªkfud foU;kl fy[ksaA 
(d) Cr (24) ([k) Cu (29)   (x) Co (27) 

 
4. Write down the electronic configuration of following ion. 

(a) Cr
3+

  (b) Cu
2+

  (c) Co
3+ 

fuEufyf[kr vkW;u dk bysDVªkfud foU;kl fy[ksaA 
(d) Cr

3+
  ([k) Cu

2+
  (x) Co

3+ 

 

5. Give reasons, why cupric salts are coloured while cuprous salts are colourless ? 

D;wfÁd yo.k jaxhu tcfd D;wÁl yo.k jaxghu gksrk gSA dkj.k crk;saA 
 

6. Zinc doesn’t form coloured compound, why ? 

tLrk jaxhu ;kSfxd ugha cukrk gS\ 
 

7. What is the differences between lanthenides and actinides ? 

ySUFksukbM ,oa ,fDVukbM esa foHksn crk;sa\ 
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8. Why [COF6]

3-
 is paramagnetic while [CO(CN)6]

3-
 is diamagnetic ?  

 

9. What are alloys ? Write the name and uses of two alloys of iron. 

v;Ld d;k gS\ yksgk ds nks v;Ldks ds uke vkSj mi;ksx crk;saA 
 

10. Transition elements form coloured compounds, why ? 

laØe.k rÙo jaxhu rÙi cukrk gS D;ksa\ 
 

11. Most compounds of the transition elements are paramagnetic, why ? 

laØe.k rÙo dk eq[; ;kSfxd ikjk eSXusfVd gksrk gS D;ksa\ 
 

12. There is tendency to form complex compound in transition elements, why ? 

laØe.k rÙoksa dh ÁÑfr la;qä ;kSfxd cukus dh gksrh gS\ 
 

13. Name three ores and alloys of copper.  

rk¡cs ds v;Ld vkSj feJ/kkrq esa foHksn fy[ksaA 
 

14. What are inner transition elements ? Write their general electronic 

configuration. 

var% laØe.k rÙo D;k gS\ muds lkekU; bysDVªkWfud foU;kl fy[ksaA 
15. Why do lanthenides and actinides have similar physical and chemical properties ? 

ySUFksukbM~l dk HkkSfrd ,oa jklk;fud xq.k leku gS D;ksa\ 
 

16. Which one is more paramagnetic Fe
2+

 or Fe
3+

 ? give reasons.  

Fe
2+

 or Fe
3+

  esa dkSu T;knk ikjkeSXusfVd gS! dkj.k crk;sa\ 

Five (05) marks question. 
 

1. (a) In what way is the electronic configuration of the transition elements 

different from that of the non transition elements p-block elements ? 

(b) What are the different oxidation states exhibited by lanthenoids ? 

¼d½ laØe.k rÙo dk bysDVªkWfud foU;kl vlaØe.k rÙo ds bysDVªkWfud foU;kl ls fdl Ádkj 
vyx gS! Li”V djsa\ 
¼[k½ ySUFksukbM }kjk fofHké vkWDlhdj.k voLFkk D;k gS\ 
 

2. Give reasons- 

(a) Se, the first member of the transition series does exhibit variable oxidation 

state.  

(b) Only transition metals form complex compounds with ligands such as CO. 

dkj.k crk;sa & 
¼d½ lsysfu;e laØe.k rÙo dk ÁFke lnL; gS tks fofHké vkWDlhdj.k la[;k jgrk gSA 
¼[k½ laØe.k rÙo dkcZueksuksvkWDlkbM fyxsaM ds lkFk la;qä ;kSfxd cuk gSA 
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3. Explain why transition metals form- 

(a) Alloys with other transition metals easily. 

(b) Compounds in different oxidation states ?  

o.kZu djsa fd laØe.k rÙo D;ksa cukrk gS& 
¼d½ feJ/kkrq fdlh nwljs laØe.k rÙo ds lkFk vklkuh ls 
¼[k½ ;kSfxd esa fofHké vkWDlhdj.k la[;k 
 

4. (a) Explain how the colour of solution of K2Cr2O7 depends upon pH of the 

solution.  

(b) Write a balanced equation for the raction of K2Cr2O7 with ferrous sulphate 

in presence of dil. H2SO4.  

¼d½ iksVkf’k;e Mk;ØksesV ds ?kksy dk jax ih,p ij fuHkZj djrk gS! o.kZu djsaA 
¼[k½ iksVkf’k;e Mk;ØksesV Qsjl lYQsV ds lkFk iryk] lY¶;wfjd vEy ds lkFk gksus okyh 
ÁfrfØ;k dk ,d larqfyr lehdj.k nsaA 
 

5. Name the chief ores of iron. How is the pig iron converted into steel ? Describe 

any one method of steel making in detail. 

yksgk dk eq[; v;Ld dk uke crk;saA fix yksgk dk LVhy esa dSls cnyk tkrk gSA lVhy dks 
cukus dh fof/k dk foLr̀r o.kZu djsaA 

 


